amd64, hydrab, crypto_encrypt, open time, ciphertext size

Horizontal axis: Time (cycles) to generate a message given a ciphertext (crypto_encrypt_open).
Vertical axis: Space overhead (bytes) for encrypting a long message (at most crypto_encrypt_BYTES).
‘B’ means that the SUPERCOP database does not list constant time as a goal for this implementation.

217 .

216

213

212 .

211 :

210

29

28

27

210

211

212

213

214

215

216

g J
e ) E S
e P J o — -
- - //I ’ : * % ~ — —Mllncnie3q1282
~ ~
-7 o 0 | I NN
Blucnicdql282 A ! | (A NN
- / / / \ \ N\ ~
e s / | | | \ N ~ -
- g / / ‘ \ A N b ~Mlncnie3q2561
BMlncnicdqi921” Sy b \ ! \ N 4
/ / | I \ \ \
/ / | | \ \ N\
Elncniedq1922/ / / | \ \ “Mllncnie3q2562
\ \
// ! | A
; [ -mcnieSqlé\En \
/ ! v \
Bcniedq2561/ / \ ‘Mlincnie3q1922
\
!
| llincnie3q1921
!
Elncniedq2562
Ml otus256
/
/
/
7/
' 4
- — -~ —
T T~ Ellotus192
Blotusizs— — — —  °
/Mlcargocult2048
/
/
Bl s52048¢ //
N
< /
N /
N /
Elnceliece, N\ <
\
\
\
\
\
\
Y
217 218 219 220 221 222 223 224 225 226

227

228

229

https://bench.cr.yp.to

230

231

20240912

232



